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So = is equivalent to 575. Let's check each option and see if we can rewrite it as 50 using

the properties of exponents.

2/4 lﬁ — (59 1=5"

So this option is correct.
1%=1
So this option s incorrect.

374 () Bo5Y_56
So this option is correct.
(57)-8 = 52(-8) —

So this option s incorrect.

4/4  In conclusion, these are the correct answers:
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Which expressions are equivalent to 472 -

Choose 2 answers:
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4272 —(4.7) =282

So472 - T2 s equivalent to 282, Let's check each option and see if we can rewrite it using.
the properties of exponents as 472 - 72 or 2872,

(4-7) 4 =284

So this option s incorrect.
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So this option is correct.
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So this option is correct.
(4-7)¢ = 28*

So this option s incorrect.

In conclusion, these are the correct answers:
72
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287
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Natalie tried to evaluate the expression (473 - 2

(@2
= Step 1
=g Step 2
=0 Step3

Did Natalie make a mistake? If so, in which step?

Lanswer:

Natalie did not make a mistake.

Natalie made a mistake in Step 1.

Natalie made a mistake in Step 2

Natalie made a mistake in Step 3.
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Let's go over Natalie's solution, step by step.

In'Step 1, she rewrote 4 3 - 2 as 85, This is correct:

49 o (g9 iogd

In'Step 2, Natalie rewrote (8 )0 as 87, This is correct:

(89 =890 —g0

In Step 3, Natalie evaluated 8 as 0. This is incorrect. Any number raised to 0 equals 1, not 0.

In conclusion, Natalie made a mistake in Step 3.
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Which expressions are equivalent to = ?
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